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Directions

1. identify the incorrect part of each sentence (marked 1, 2, 3 or 4) and
2. choose the appropriate correction from the choices (A, B, C or D)

Question

How solid is something depends on how closely packed the atoms in it are.
1 2 3 4

How something is solid How something solid is

How is something solid How solid something is
depending on depended upon
dependent on depend upon
how it is closely packed what closely packed
what packs closely when it is packed closely

the atoms they are in it the atoms there are in it

o > 0 > 0 > 0O »F
© ® O ®» O ®» O W

in it are the atoms there are atoms in it
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